EARAROBREBRT —5 XN—ZXBISH—F

202111848 (R) 1701REE3H

I C 1 34 YSFR g B
[AXE%€]) 1%:320,00H ~ 2%&:102,000H  337%:58,00MH  4%&:38,00MH  53&:26,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- = FIT5eig : -6-6- - IR (BEE)
1 NE S B3 e 1.(3_0).9 6-6-6-5 | 39.4 1 (4+553) s
R:FXF §:59URvw O [Filsakae]
< RFRFIAEB : -1-1- - BEPOE (BEER)
) 4| XAVamRUTIL 4 3 ZR 1.(321).3 1-1-1-1 | 41.2 6 (4_925) d\%%x
RiUFAVF4—Z B3R/ D=L T wis
- S0~ st 3 | R 1:31.5 3-4-5-3 | 40.3| - 5 108 |BTIE—B (BER)
31810 =3—LA51Y 54.0 M Ly |EEES
RiANTI—YN B:Za—I5VY ED IS EIN
5 g =T 131, 3= 7| = BIB—A (BER)
417] 9| UPLRE—R %3 | ETE | 2| P E | emex
RUTPIWAVINT N B:5—UvITVUR BELSASI7—L
5 3 U T4 4 3 %ﬂfﬁgﬁ’éﬁ 1:(332).2 5-5-4-4 | 41.1| — 4 (4_913) ga&gf (BEE)
R:¥VUSTvRk #B:TLUX BENNZ7—L4
= = 8 5 | PERER 1:33.5 9-9-8-7 |40.3| — 7 452 | BUHEA (BEE)
6178 =Y HFTR 54.0 ®) (-5) | PEE
RivavFrvhyy BZHYRRT-— At A
~ ) H~ & 45 | W 1:34.0 11-11-11-10{ 39.6 | — 9 465 | BTIBE—% (BEE)
7 6 Y VARS—L 56.0 212 1) %T_I:%A
RiFUINAO— B bFIFRTAT =t e
= ~)IN— B4 | REDTE 1:34.5 10-10-10-11| 40.6 | — 8 465 | B (BEE)
N « ALY %50.0 Q12 o) | PEEE
RivavFvhvT B=SHRIYT— A FEE
— R . o4 | EBIFEE 1:34.8 7-7-7-8 |M.7| - 1 468 | HERAIE (BEHE)
9|81 H—FTU—7 5.0 11/ o |PERE
RiW—5—yvF BRUVER EUFHT7—L
TIPS HiEEE— : -8-9-— = Bit® (Z&E)
100111 | FIWRFEL 44 20 1.(315).0 8-8-9-9 |41.5 9 (4+311) mmgz
Riby RZAN—=9 B:LyREAUVT FE%US
NE— KEET] :38. -2-2- . - SEEe (BERE)
1Mls5l5|73VT 1=l 5D (193481,9) S R ’ (538) IVEFA
Ri—5—YvF B:I9LFR—3F RHIHIS
@ 1—F—&RIEL
13—7— 4,5,10,9,3,2,11,1,8,7,6
20— — 4,5,9,10,3,2,11,1,8,7,6
30—7— 4,5,9,3,10,2,11,8,1,7,6
43—F— 4,9,10,3,2,5,8,11,1,6,7
o ILRE
BB 2 1504 JA R 2-4 2904 % 3E 2-4 1,010 3EE 2-4-10 1,180
B B 2 110/ 2-10 280M 5 E 2-4 800H 3EH 2-4-10 3,890
4 220 4-10 900M Ba 2-4 1,280
10 240M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




